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xt-curve calibration for no-field runs

Run100852, FDC plane 2, distance vs time
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xt-curve .. a function which converts “drift time (t)” into “drift distance (x)”
( = red curve in the above graph )



Run100852, before calibration

Red: hits on the right side of the wire, Green: left side
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Run100852, after xt, tO calibration

Red: hits on the right side of the wire, Green: left side
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Run100852, after xt, tO calibration

Consistency of Left/Right residuals are mostly coming from t0 calibration.
Slightly asymmetric shape of (L/R) residuals are from incorrect xt-curve.
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This slight asymmetry vanishes by xt calibration.
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Millepede alignment
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FDC Wire residual
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Black: Before alighment, Red: After Millepede alignment
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FDC Cathode residual

Black: Before alighment, Red: After Millepede alignment
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/FDC> cat cathode_alignment
/FDC> cat wire_alignment
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